¢ Zwutnunnid kil

Pl punibh "Upah nupng’ 20UTh
= ntiopklt’ 2. Uluppapjult

: -;’527'.01 2017 p-

Poliwl punuph "UpJtuwnp nupng” 2NUY-h 2017 pU.
Qunidtbph wwh 1111’1111111111711.[&]111_11

Nundhpuinnil’ Poluult punuph "U Luwn ng" 20UY
Cuwn pogbinnu) 1 swhuknp gk wnbusuljui puuuygt quull
Onwid * 2017p. Ppu wbwgn

Cunhwbnip
/hwq.

e, —
Eﬂﬂm_ gooo| 3|
i

30199420 |/yuynil/ £LUZ 2 300 1
W@ﬂ@‘_@ﬂmﬂ
24911400 m_ﬁmmmmmﬂ 10
257221 Ul Mo Gmey___— e s oo SR
S e e e P
mmm_mm_-m 6000 &
M@Mﬂ 2

30192740

30192760 Wm
mm_
20197124] undquit kplupt Qo m:m-ﬁa—m 1

)
1=
C
5
5
="
e
=
i
.
o
(=l
e
£

]



30197647 |@ninp’ A3 duwswthh PCUZ wintth 800 3200 4
39241141 | twbuly’ gpuukiyuljuihb UES PLUZ hwwn 350 1750 5
30234620|Unhs /$1ko/4 GB PCUZ huin 3000 3000 1
30192720|%5wlohs /Uwplikp/ PLUZ huwn 250 500 2
30197231 | Mnjhubkpuyhtt punulie /Suyy/ PLUZ hwwn 1000 1000 1
30192137|Uwnhwn ull hwuwpuly PLUZ hwwn 50 1500 30
22451200 Ugupunuljul yjujuljutbtn PCUZ hwuwn 1500 40500 27
30197511 |Unjwupupninp ELUL hun 250 2500 10
30197638|@ninp odukp’ A1 $npuunh PLUZ hwwn 200 2000 10
30192123|$ndwunkp PLUZ wnntih 1000 5000 5
39293110|Uphkunnwlui Upgkp PLUZ hwwn 500 5000 10
19211200| Pudpwljju uinplkp PLUZ Uk 850 3400 4
udwljupgsught b wuwngkiwhwbdwub uwppuynpnidibp 22000
30237310|Lwppnhy PLUZ hwwn 5000 5000 1
32210000|Zknwpdwldwls uwppkp PCUZ huin 10000 10000 1
Zudwljupgsh hnuwtiph
31687000 |jupguynphs PLUZ huwwn 7000 7000 1
Spwluynpuuwjhb ynipbp wjn pt{nul‘ 14264/ 160000
Junkhp 160000
9134200|thqkjuht PLUZ ] 400 160000 400
Zwwnntl) iyunnwlughl nipkph 14269/ 158350
Stuinbkuwljwt uwithhghthy U jywgph dhongubp, wyn Iat{nuI‘
39224300|LJwgnn b dwppnn thongukp PCUZ hun 800 4000 5
31681700| fudwliwpup wnnith PLUZ huun 100 200 2
31681610|Ejkljinpujult wyywhnyhy PLULZ huin 1550 1550 1
44111410{Lkpl PCUZ hwwn 4200 16800 a
39522330|Uwppnn junplkp PLUZ huun'™, 500 2500 5
39812600|Uwpnpnn dwsnijubp b thnphtikp  |FCUZ huun' 500 1000 2
Uputnnwhwtng hinniyy’
39831247 [uwthwlgnigh hudwnp PCUZ huin 600 2400 4
39831270|Uwnilg PLUZ huin 200 1000 5
39831281 |Uwwljh dwppkint Uhong PCUZ hwuwn 500 2000 4
39221410|Uyky PLUZ hwwn 900 4500 5
ElEyinpuuit judy nnbkunn
31521230|75W PLUZ hwwn 2400 7200 3
44511260(Znjupninpe PCUZ hwwn 1200 3600 3
44521210| 2wl thuljwih dhonty huin 2500 10000 4
31521210|{Ludy’ Eyntund 18 9w PLULZ hwwn 900 3600 4
31224100 <dwpnul PCUZ huin 500 2000 4
42120000{Onpujutp, thwlwubltp PCUZ |hwuwn 8000 16000 2




33711900|2tnph o&wn PCU2 hwn 200 2000 10
39839300|Gnquiphuly £0UZ2  |hun 700 700 1
44111410[Lknpl £LUZ hwwn 4200 16800 4
44521220|9wfuhsubp BEUZ hwn 350 7000 20
44511200|Rtnph unng PCUZ hwwn 3500 3500 1
42121190|Qnh wnuy PCUZ  |hwwn 50000 50000
Lulpqlwhl Swnuynipinibbkp, wn pyni/4212/ 550000
El. Eubkpghuygh
Uwnuljupupnid
9310000 |pwnupuy krnuput RO npud db 100000
9411700| Ptwljwis quiq PCUZ  |ppud 1 450000
cwdwlwpgsuyhl Swnuynipindl, wyp pynud /4232/ 94000
Stnkjuwnjuljut
48810000| hwdwlwnghph uywuwnpynmd  [£eU2 npud 4500 54000 e
Bpwdounwljut gnpdhplkph
YEpwinpnguwi b
. [yquhywtdwb
50860000|bwnuynipiniilikp PCU2 npud 10000 40000 4

Yuqukg  gqiluwynp hwoduwuyuh %L 2. Pudwuqut




